TotalMarks:.... Class:9th Time:....
Test:Math

Attempt ......... questions

1 . - o z
If x is no larger than 10, then ...... o %10 ;wju(x Ji
a) x>8 b) x<10 a) x>8 b) x<10
c) x<10 d) x>10 c) x<10 d) x>10

? x =0 is a solution of the inequality ...... -Q.UCK:.{JP  AR— .:.abbf/:é x=0
a) x>0 b) 3x+5<0 a) x>0 b) 3x+5<0
S X+2<D d) x-2<0 e x+2<0 d) x-2<0

> Which of the following is the solution of 3-4x<1lehslas? JﬁL’LJ[C-Lf J 3l
the inequality 3 - 4x < 11 b S
a) -8 b) -2 a) -8 - b) -2
c) — z d) None of these c) — '4' d) ﬂfdfc..ufuf

4 2

5 iz is a solution of the inequality -2 <X<F = st FX =
-2<I<% —LJ/JKJJL
a) -5 b) 3 a) -5 b) 3
¢) 0 i 5 ¢) 0 d) 5
A ststement involving any of the symbols ua. tf <> <> ufu) gb d
& b e B _Lul ;.lpdl.._/ﬂf
a) <l

a) equation

b) identity

c) inequality

d) linear equation

® If the capacity ¢ of an eléyator is at most

1600 pounds, then
a) ¢ <1600
c) ¢<1600

b) ¢> 1600
d) ¢> 1600
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b) ﬁ&/))ii&u’bg/q(ffﬁ&l}u(ﬁ.l
C) =hlssf
d) u.".«')L-"(j-JJu{

ool e ml e § gy § ed

!:u:l.,1600
a) ¢ <1600 b) c>1600
c) ¢<1600 d) ¢> 1600



